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QUESTION 1

Harold is writing a J2ME program that run an inventory application on his company\\'s PDAs.

Employees will use their PDA to scan barcodes into the program Harold is writing. Harold is very concerned about
securing his program\\'s code and ensuring its integrity once it is utilized. Harold particularly wants to stop the execution
of class

files loaded in the virtual machine in any way, what is not allowed by java virtual machine specification.

What level of J2ME security should Harold implement to accomplish this?

A. High-end security

B. End-to-end security

C. Low-level-security

D. Application level security

Correct Answer: C

QUESTION 2

Tyler is in the applicaion testing phase of a particular project. He has decided to use the White Box testing method.
Tyler has made a number of changes to his code after some initial tests found some bugs. Tyler now needs to test the
code with those changes in place.

What type of testing is Tyler getting ready to perform?

A. Integration testing

B. Mutation testing

C. Statement coverage testing

D. Branch coverage testing

Correct Answer: B

QUESTION 3

What function can be used with SQL to encrypt user suppliedpasswords so that they can be compared with the
encrypted passwords stored on the SQL server?

A. DESpassword()

B. userencrypt()
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C. passwordin()
D. pwdencrypt()

Correct Answer: D

QUESTION 4

What is the security and cryptographic framework used in Mac OS X called?
A. AppleSecure

B. CSAPI

C. CDSA

D. Secure API

Correct Answer: C

QUESTION 5

What encryption algorithm is used by PERL crypt() function?
A. Skipjack

B. 3DES

C.DES

D. AES

Correct Answer: C
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